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Unit Conversions (Bimeénsional Analysis)

1.) Convert 63 miles to feet

2.) Convert 1456 inches to meters. {Use 2.54 cm per inch)

3.) Convert 80 miles per hour to feet per second.

Simplifying radicals (square roots)

4.) Simplify 1/ x11y529 5.) Simplify. ./ 98x5y8

6. Simplify V3x - V27x5 7. Simplify v2x - V10x8
_ _ 7 V11
8. Rationalize the denominator. — 9. Rationalize the denominator. —
Va V5
10. Add. _ 11.) Subtract

6vV2x + V18x +V50x o V24x — 2+/54x




’Un'it Test Revaéw

- TAccuracy and Precision -
| 12. Which measurement is more prec1se? i
a.) 23 cm.; 15 meters; 52 km.

b.) 2.1in.; 3.456in.; 54 in.

13. Describe the scenario as exact, estimation or approximation.
a.) The diagonal of a square with side lengths of 5 is 5v2

b.} The diagonal of a square with side lengths of 5is 7.1.
c.) The thermometer measures 96° F

d.) If 4 dogs eat about a cup of dog food a day, Pam thinks that the bag of dog
food will last a week.

e.) The circumference of a circle with diameter of 10 is 31.4.
f.) the circumference of a circle with diameter 10 is 10nt

g.} The population of Columbus is 230,000.

Significant Figures

14. Tell the number of significant figures.
0.003440
45,020,100
6100.0

50,000




~Unit 1 Test Rewe';f;:

15. Using your knowledge of precision, perform the operations afid round to the correct

digit.
44 + 8.14 60 —32.1
(7.6)(29.2) 80 - 45
Polynomials
16. Use the following expression:

—4x? + 6x — 12

a. Name the type of polynomial.

b. State the leading coefficient.

¢. State the constant

17. Adding and Subtracting:

(Ox2+5x—7)+ (4x2+7x+ 1)

(9x> +5x—7)— (4x2+7x + 1)

18. Multiplying:
(x+5x-4)

(4x + 1)(x-+ 7)

(x+6)(x —6)

(—8x?% + 7x + 6) + (2x2% + 15)

(-8x2+ 7x +6) — (2x% + 15)

(Bx—1)}(x + 6)

" (x + 8)?
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| Ratlonaland Irrational Numbers* L : A - T
19. For-the following, decide if the statement is true Always, Sometlmes, or
Never.

The product of two irrational numbers is rational.
The product of two irrational numbers is irrational.
The sum of a two rational numbers is irrational.

The sum of two rational numbers is rational.

20. Fill in the blank with Rational or Ifrational.

The sum of a rational number and an irrational number is

The product of a non-zero rational number and irrational number is

Closure Property:
21. Explain why polynomials are closed under addition, subtraction and multiplication but
not division.

22. Explain why whole numbers are not closed under subtraction, but integers are.

23. Rational numbers are closed under division for all real numbers except ?




Unit 1 Test Review -

Unit Conversions (Dimensional Analysis)

1.) Convert 63 miles to feet

Wl 52%0Ft _ 333 L4DTE
[ W
2.) Convert 1456 inphes to meters. (Use 2.54 cm per inch)

\MBireRes ) B em | melec .
\ \ioen \OD &R T 36432 B 4R mekr

&

3.) Convert 80 miles per hour to feet per s.e.c.o.nd.. :

[Wenikes  , 5280 £t E i e (;'{ysec.

\ | oniVe
Simplifying radicals (square roots) 0\‘&
4.) Simplify 1/ x11y>2° 5.) Simplify. /98x5y8 o 49
\ g Qo B \\- . ? A
\lx“’x 5‘322 V1®ed XM K Y O
ey Jow
j X
'Xfﬁq Xt‘j_j - ’-] x 5 :ﬂ'(ﬂ’r‘,_ Fmﬁ\
6. Simplify V3x - V27x5 7. Simplify v2x -v10x8 mU\JﬂPb *
-\ s O a Qo
v 3L x° cecCock \VaDx @l
@ Square. 2%.5. 8 X %
(@ J5) -
8. Rationalize the denominator. — 9. Rationalize the dememinator. —
A e g8 B v
et (R R ET
10. Add. 11.) Subtract ¥ For &\g
6vZx + VIBx +VEOx WS4 = 8l%y V24x — 2+/54x SR )

(.9@4%5*‘\ pAY \[-5-517 55; Q-an'LT;L Q\_\K:gm
ﬁ CAlBE Dea Sl = LDy
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~ Unit 1 Test Review

Accuracy and Precision S
12. Which measurement is more precise?
a.) @ 15 meters; 52 km.  SCNAN L0 und

b.) 2.1in. ; ,
604'09 Uf\s'\"e.J Mmoce de(_imfa_\$.

13. Describe the scenario as exact, estimation or approximation.

a.) The diagonal of a square with side lengths of 5 is 5v/2 Q.
VRCOWSe ¥new \eft  JQ O el R - o ec':mo-‘-

b.) The diagonal of a square with side lengths of 5is 7.1. ;
VYo taade Vi oo decimel. | Popcoximate |

c.) The thermometer measures 96° F. lQ.PPrDy,] mato
MROSre Ferls e aBLswRs  Ogprotmet €

d.) If 4 dogs eat about a cup of dog food a day, Pam thinks that the bag of dog

food will last a week. \Q,b'H mq-\'\b(\j

e.) The circumference of a circle with diameter of 10 is 31.4. \wprwm
Veed 34 Os M .

f.) the circumference of a circle with diameter 10 is

g.) The population of Columbus is 230,000. P&tiracion

Significant Figures
14. Tell the number of significant figures.

go03aag PacEc toe ||

g
45,020,190 prasic ¢ Lo}
6100.0 (P 5

sogge (A 11)
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15. Using your knowledge of precision, perform the operations and round to the correct

digit. IQ - -
44 +814 ' 60—321 = 219
= A decimat 1\25! 0o decwadt [A5]
(7.6)(29.2) = 2Q.92 80-45 = QD
| 2 3i4 Gav= [IADN 1 si3Qq MO\
Polynomials
16. Use the following expression:
—4x% 4+ 6x — 12

a. Name the type of polynomial. "rP QD m'lal

b. State the leading coefficient. _~~ H

c. State the constant -'\ Q

17. Adding and Subtracting:

(9x2£F5x-—7)-F(4x2+}?x-kl) (—8x2% + 7x + 6) + (2x?% + 15)
QP+ B =T + x4y L _Zaxz"-v X+ L

= . A |
A3 x 125 =0 | *éLaxz TR
(9x72_+5x—7)—(4x2+7x+1) (—8x7+ 7x + 6) — (2x2 + 15)
& '\'25A-’"|"§__)sz-"lx -\ =% 4 N b =25* =15
(5" - 2x-3 |-10%" +7Tx -9\
18. Mg_ltiplyi%g: ey —

GrPE- N
X . iLf.m_:.\ﬁ“"
x..* ‘L:\'al -7 \3\[, AViIn-U
2 -—
‘:rx; 1)(x+7i . (x +8)% - q_u-\‘&)()l'* &)
LRIAT R AL s X4 By 4 A ot

L%+ 29x+ 1)
(x+6)(x—6) m

2= oK * X - 3

~__Congel
X2 -2l l




U'n'ith i Test Réview

Rational and Irrational Numbers: :
19. For the following, decide if the statement is true Always, Sometimes, or

Never.

The product of two irrational numbers is rational. Someh Mes 5. \J’E‘._ @ -

The product of two irrational numbers is lrrational.ﬁm\ghmg
e Vo e

G
i)
dl
L‘;

The sum . of a two rational numbers is irrational.

— Neueg y,
The sum of two rational numbers is rational. p‘\ \0 \05

20. Fill in the blank with Rational or Irrational.

The sum of a rational number and an irrational numberis \ {C Q:\\ur\c,_ﬁ

The product of a non-zero rational number and irrational numberis __j{"CQ h g'\,f‘ﬁiz,t

Closure Property:

21. Explain why polynomials are closed under addition, subtraction and multiplication but :

notdivision. T e cdd, subtracr of Moelhpy 3 poigncmiels

we W skl have oo foignomed.  Howewr, TF we
divide Hhe  NOaoebes Wi\ femaenn i Yhe

nléJnu{Y\t Actet ~ Lwonadn Conpey N QPPEN \n O ﬂmf-ﬁﬂu’\mfi
22. Explaln why whole numbers are not closed under subtraction, but integers are

I‘* Wl s5ubXtedr A wiwle ﬂumbL?:& Whe A=H = "3 :
we s\ etr o Ny ative (not o wihole /]un‘—/bﬂ’

Fowever, [n¥8ess  Confain  N9ahie  pumbers. So
Sibflachg ¢ ot o peeblem .,

23. Rational numbers are closed under division for all real numbers except _ () ?




